








91.97 + 26.98 – 83.90 + 112.98 + 102 = ?

A.279
B.360
C.150
D.248
E.149



24.69% of 236.01 × 2.76 = ?

A.108
B.117
C.160
D.187
E.236



30% of 150 + ?% of 500 = 105

A.11
B.10
C.12
D.14
E.15



30% of 300 - 6 × 6 = ? × 9

A.6
B.0.6
C.0.06
D.60
E.600



{ 10 + ( 14 ÷ 2 × 3 − 1 ) }  − 15  =  
𝟓

𝟗
of ?

A.3
B.27
C.9
D.5
E.81



15 × 18 + 20% of 45 = 9 × ?

A.25
B.35
C.42
D.31
E.38



10% of 100 ÷ 5 = (?)2 ÷ 72

A.16
B.21
C.12
D.25
E.24



(13 + 7)% of 625 = ? - 10% of 102

A.125
B.225
C.135
D.235
E.NOT



(52)3 × (52)4 = 5?

A.10
B.12
C.8
D.14
E.NOT



14.28% × 420 + 28.56% × 420 + 120 = ?

A.280
B.320
C.300
D.350
E.NOT



32, 8,   64,   16, 128, ? 

A.32
B.36
C.34
D.30
E.40



7, 3.5,   3.5, 7, 28, ?

A.56
B.168
C.224
D.140
E.NOT



12, 13,   28,   ?, 352,   1765

A.102
B.81
C.91
D.87
E.105



127, 138,    158, 187, 225, ?

A.272
B.262
C.250
D.372
E.242



3, 7, 15, ?,   43, 63

A.32
B.25
C.27
D.36
E.21



4, 8,   11,   22,   25,   50,   ?

A.24
B.45
C.53
D.30
E.NOT



320,   162,   84,   46,   28, ?

A.16
B.22
C.14
D.18
E.20



60, 40, 50,   ?,   180, 460

A.75
B.95
C.65
D.85
E.NOT



2x2 + 15x + 7 = 0

y2 + 17y + 72 = 0
A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



2x2 + 11x + 12 = 0

y2 – y – 2 = 0
A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 + 3√2x – 80 = 0

y2 – 5√2y – 100 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



x2 – 4√3x – 36 = 0

y2 – 5√2y – 72 = 0 A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



35x2 – 39x + 10 = 0

30y2 + 2 = 17y
A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



Ratio between speed of boat in still water to speed of stream is 5 : 2. If 224 km is 

travelled by downstream in 4 hours then find the difference between speed of boat in still 

water and speed of stream?

शाांत जल में नाव की गतत का धारा की गतत से अनुपात 5:2 है। यति धारा के अनुकूल 224 तकमी की यात्रा 

4 घांटे में की जाती है, तो शाांत जल में नाव की गतत और धारा की गतत के ीी  अांतर ्ात कीतज ?

A.24 km/hr
B.22 km/hr
C.28 km/hr
D.26 km/hr
E.NOT



The ratio of the speeds of the train and the man is 6 : 1. The length of the train is 

650m and crosses a pole in 1 minute 5 seconds. In how much time will the man cross 

the 240m long platform?

टे्रन और आिमी की गतत का अनुपात 6:1 है। टे्रन की लांीाई 650 मीटर है और 1 तमनट 5 सेकां ड में  क 

पोल को पार करती है। वह आिमी 240 मीटर लांीे प्लेटफॉमम को तकतने समय में पार करेगा?

A.1 m 24 sec
B.2 m 30 sec
C.2 m
D.2 m 24 sec
E.NOT



The average salary of male employees in a firm was Rs. 6000 and that of females 

was Rs. 5600. The mean salary of all the employees was Rs. 5800. What is the % 

of female employees?

 क फमम में पुरुष कमम ाररयों का औसत वेतन 6000 रुपये और मतहलाओां का 5600 रुपये था। 

सभी कमम ाररयों का औसत वेतन 5800 रुपये था। मतहला कमम ाररयों का रतिततशत यया है?

A.60%
B.50%
C.70%
D.20%
E.NOT



If 12 men or 18 women can reap a field in 14 days, then working at the same rate, 8 men 

and 16 women can reap the same field in ?

यति 12 पुरुष या 18 मतहला ां 14 तिनों में  क खेत की कटाई कर सकते हैं, तो समान िर से काम करते हु , 

8 पुरुष और 16 मतहला ां उसी खेत को तकतने तिनों में काट सकते हैं?

A.9 days
B.5 days
C.7 days
D.8 days
E.NOT



In 30 litres of milk and water, water is only 20%. How many litres of water should be 

added to it to increase the percentage of water to 60% ?

30 लीटर िूध और पानी में पानी केवल 20% है। पानी का रतिततशत 60% तक ीढाने के तल  इसमें 

तकतने लीटर पानी तमलाना  ातह ?

A.24 litres
B.6 litres
C.20 litres
D.30litres
E.NOT



A can do a piece of work in 5 days less than the time taken by B to do it. If both of 

them together take 11 1/9 days, then the time taken by 'B' alone to do the same work 

(in days) is?

A तकसी काम को B की तुलना में 5 तिन पहले समाप्त कर सकता है। यति िोनों काम को 11 1/9 तिनों में 

समाप्त करतें है,तो B अकेले काम को तकतने तिनों में करेगा?

A.15
B.20
C.25
D.30
E.NOT


